INR=TY = e =T 4 THRASH

AP R HARD B EHH
PRHE TR AT D 350D N
202143 H &y =17
e it
B
PR o Bl (B
4 Bl B AT AT s
202 14 3 7 4y (i r10%) | 2021482 1 45 (2 Bl 10%) BATHfiL O
o E -3858% -4028% 178%
Rl e -3798% -3968% 1785

(T&%E . BEWEET BRI R RO )
20214E3 H 45 DB FH 5 B 1220204510 H ~20204E12 H OSEHBREHIR I L0 B HHE £,
SERRIE S

2020410 H ~20204E12 A JE IR 1 K170 22,100  (A)
(100 F it PU 5. N)
X 4 B T W IR AL Rl
SERE TR A RS 1kl 7=V 28,869 0.2985 8,617
SR RA LTI ALk 1t H7=0 35,331 0.2884 10,1891
SEY A ERATES 1t Hi=h 7,588 0.4300 3,263H
AYEREHIRE RO R
FLYEPREHAS (B) FEVEHLT (C)
= J+ 20.70%%
40,700H Rl )1 20.40%%

B AR S EEYERRBHMT#540,700 1 %2 LBl 72 55

IR | = CTSSRREHITHS ()-SR R (3)) X 2 A (C)

SOEBREMIIAS (A) £339,000 1 28k x 7255 513:39,000 ] % _E RS L E9,
B OEERRHI R 2 L HE PR B 45 40,700 1 2 T Bl o 72356

PRI AT | = (LA (B) - TARREHIf (A)) x 2L ()

B AR EFREEMOBEAMIT., 1821, 20X, /MR TSN THURIALET,




